01.06.20 Worksheet 10 Year 4

A set of ten cards, each shcrwing one of the dLths from Otr9 is

divided up hetween vao, cmvolopes so that there are two cards in each
en,vetopz. The sum of the two numhbers inside it is written on each

envelope:
7 g 13 14 3
What numbers could he inside the envelopes?
What are the possible ways of making the numhers on the envelopes?

Which number has the fewest Iao—ssLbLe comhinations? It nght he worth
startLrLg from this o,n,vzlopo, and, Lovkmg at what could he in the others.

This is a tricky Iamh[em,. You will need to- show- lots of patience,
perseverance and resilience. You nght and it easier to- use cards and

envelop,zs to- do this IaracthaLLH.



